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‘RT\&W&’ He —Y-oucacu\v\% cyua}\o\‘\&.

2\1\}\1&5& o\Ac\'H‘\c jo.c'u -F\npl HHhe beax cub?
How did she buing i+ upy

‘%Thc J‘W‘a 'fd-md the beax cub n He
fovest. T w=a Very small and  helpless.
She b‘o‘bv-aﬂ\f it up on dhe bottle c&mi{k.

The bear quecd wp bt ' he was o mest

amiable beax." Give Thwee examples
o Prove +his .

| He wes a most amiable beay. He

did net hawm qndch'a,mqn ox beaast
He looked mest amimbﬂa ot Fhe

calile Fzing n the fidd nearb, .
The chiddven wed H Side o

hib ba,ck, bbd" \’\C.O(«uoe hoj' hawm
Hem .
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